REAR AXLE

Gop & | Phie Per Pat Namme
. N, | N | PN gy wodes 15ed o Specificaions
B7— REAR WHEEL BEARINGS (Continued)
5 WHEEL, BEARING ADJUSTING CAP SHIM (cont'd)
6| BX 37188 2 32-33 Hudson, 32 Essex..........cv0.0... | Thin
6| BX 37189 6 32-33 Hudson, 32 Essex....... PN T b - Medium
6{BX 37190 | 10 32-33 Hudson, 32 ESSeX....cvovecrcnrnves Thick
71 BX 40176 | AR 34-35 Terr-Hudson Six and UCo........... Thin
71BX 40177 | AR 34-35 Terr-Hudson Six and UCo........... Medium
7 BX 40178 | AR 34-35 Terr-Hudson Six and UCo........... Thick
7 1 BX 44558 | AR 34-35 Hudson Eight and Commercial, 36
thru 39 All models............... Thin
7 { BX 44559 | AR 34-35 Hudson Eight and Commercial 36 2
thru 39 All models.......ccivivvnnn 20 Medium
71 BX 44560 | AR 34-35 Hudeon Eight and COmercial 36
thru 39 All models....... Thick
6 WHEEL BEARING ADJUSTING CAP BOLT AND NUT -
6] 6Bz 394 8 30-31 Hudson-Essex...... o 4 tn ia sle who AT ate v Bolt-~3/8"-16 x 1-1/4"
6! 6{B0 12310 8 32-33 Hud, 32 EsseX....crveunvnns 5000000 Bolt-3/8"-24 x 1-3/8"
61 7!{BX 71205 8 32 Terraplane. .ccveveierrcrasrcsavennnas Bolt-3/87-24 x 1-1/8"
6 7{BX 71252 8 33 Terraplane. cvcveeevvesvannsccnnannan 5 Bolt-3/87-24 x 1-1/4"
6| 7|BX 44561 8 34 thru 39 All models. .....cvvvvviaennn. Bolt-3/8"-24 x 1-5/16"
7( 6BX 12415 8 32-33 Hudson, 32 ESSeX....vcvvvveessaces | Nut-3/8"-24 x 21/64n
7|1 7|BZ 71237 8 32-33 Terr, 34 thru 39 All models....... | Nut-3/8"-24 x 21/64n
8 REAR WHEEL BEARING ASSEMALY <—— .
— 71000 2 30-31-32 Hudson-Essex, 33 Hudson........ Use 1 Each 71005-71006
7 71183 2 32 Terraplane. .....c.oevvuencescencsecess | Use 1 Each 71184-71185
L. 71244 2 33-34-35 Terr and UCo, 89-90 Pass cars.. | Use 1 Each 71245-71185
7 71378 2 34-35 Hudson and Commercial excep .. | Use 1 Each TIT79=7T1780" "
7 715385 2 36-37-38-39 All models except 89-90
PaBESTCATB. e ssvs s venavesomoen ool ., Use 1 Each 71596-71597
REAR WHEEL, BEARING CONE
BX 71005 2 30-31~32 Hudson-Essex, 33 Budson LH00a00 Part of 71000 assembly
BX 71184 2 32 Terraplane. .. cvovvensneecsassnnconans Part of 71183 assembly
BX 71245 2 33-34-35 Terraplane, 34-35 UCo, 89—90
~ PaS88 CAIB.vvesvssreananoarosnnns e..... | Part of 71244 assembly
BX 71279 1 34-35 Hudson and Commercial except UCo.". Part of 71278 assembly
BX 71596 2 36-37-38-39 All modela except 89-90 )
Pas8s CarsS..cv.ceeenneaess vessesvssnsees | Part of 71595 assembly
REAR WHEXL BEARING CUP
BX 71006 2 30-31-32 Hudson-Essex, 33 Hudson........ Part of 71000 assembly
BX 71185 2 32-33-34-35 Terr, 34-35 UCo, 89-90
PasSs8 Cars..cvovecuicasen e mare ala o ee aias 50 Part of 71183 and
WP ' 713244 a blies
BX 71280 2 34-35 Hudson and Commercial except UCo.. Part of 71278 assembly
BX 71597 2 36-37-38-39 All models except 89-90
Pass cars............ 580 0P A 0 0D DAk o . Part of 71597 assembly



tking
Line

tking
Line

tking
Line

tking
Line

tking
Line

tking
Line

tking
Line

tking
Line

tking
Text Box


sjepo Y 6¢ ™Y ¥E6I
eupidoue], £6-Z661
a[xy IDOY

58—

27

PLATE 7


tking
Line




